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#include<stdio.h>

vold main(){

char s[4]="run"; = —
printf(“%s¥n”, s); //runt o
s[o]="f; | //rAflZZE

printf(“%s¥n”,s); //funt i =
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#include<stdio.h> #include<stdio.h>
void main(){ vold main(){
int i=10: int 1=10;
while(1<10){ do{
printf(“%d”,1);
printf(“%d”,1); i++;
1+ twhile(i<10);
h h

10 RSN D




JL—"7
o for(FJHME; St 0 &)

for ... O EALER #8035

while ...~ DR AL 240 14




JL—"7

5] : for(i=0; 1<10; i++){ |
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i : if (score>=80){
printf(“4551%80,58 0L T3 ¥n");

b
else 1f(30<score & & score<80){ NG & |
printf(“#5 51330 ~80,: Td ¥n");
=
b

else{
printf(“15 sE30 5 LL T T4 ¥n");
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1] : switch(score){

case 100:
printf(“15RU1L1005 T ¥n");
break;

case 50:
printf(“f5F 5UE505 T3 ¥n");
break;

case O:

printf(“15 5130 T9¥n");
break; default 3%

default:
printf(“Z LS OFF R TT ¥n");
break;
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#include<stdio.h>
vold main(){
Int 1;

char s[5];

for(1=0;1<5;1++){
printf(" B EAGRR A2 AL TTZS 0 ),

scanf("%s",s);

if( (s[0]=="'A" | | s[0]=="a") && s[1]=="+")
printf("A+: A ¥E[£100~90, T9 ¥n");

else 1f( (s[0O]=="A" | | s[0]=="a") & & s[1]=="¥0")
printf("A: Z#E[389~804 T4 ¥n");
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else i1f( (s[0]=="'B' | | s[0]=="D") & & s[1]=="¥0")
printf("B: ﬁ%§6179~70, " C9¥n");

else if( (s[0]=='C' | | s[0]=="c') && s[1]=="¥0")
printf("C: ﬁ%i@6169~60ﬁ5 T9¥n");

else if( (s[0]==D' | | s[0]=="d") && s[1]=="¥0")
printf("D: F:¥E1359~0,: T3 ¥n");

else
printf("#Hif A~ EE¥n");
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printf(" A JJIL5[R £ TTI¥n");
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